

[Validate](#)[Print](#)[Help](#)

### Percentage BoQ

Tender Inviting Authority: Project Engineer (civil),CCL, Kathara

#### Name of Work:AMC for 2 years for cleaning of garbage and jungle near quarry no- 03 (Jhirkey) under Kathara Colliery

Category of Services (To Be Selected by Department)		Category of Bidder( To Be Selected by Bidder)	To Be Entered by Department		
ITC Not Available	Works Contract	Bidder's Status (Mandatory)	Rate of GST (in %)	GST to be Paid By Bidder (in Rs.)	GST to be Paid By CIL/Subsidiary (in Rs.)
Name of the Bidder/ Bidding Firm / Company :		Select	18.00	0.00	0.00

#### PRICE SCHEDULE

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevant columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only )

NUMBER #	TEXT #	NUMBER #	TEXT #	NUMBER	NUMBER #	TEXT #
Sl. No.	Item Description	Quantity	Units	Estimated Rate in Rs. P	TOTAL AMOUNT in Rs. P	TOTAL AMOUNT In Words
1	2	3	4	5	6	7
1	Item Description/ Heading					
2	Cleaning, removal and Carriage of accumulated earth, garbage, building rubbish and other based material incl. disposal of the same with the lead up to 1KM and lift up to 1.5m as per instruction of Engr. I/C	900.00	CUM	274.55	247095.00	INR Two Lakh Forty Seven Thousand &Ninety Five Only
3	Clearing jungle including uprooting of rank vegetation, grass, brush and removal of rubbish upto a distance of 50 m outside the periphery of the area cleared. Etc complete as per instr of EIC	18240.00	SQM	7.64	139353.60	INR One Lakh Thirty Nine Thousand Three Hundred & Fifty Three and Paise Sixty Only
4	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including getting out and disposal of excavated earth lead upto 50 m and for all lift, as directed by Engineer-in-charge. All kinds of soil	756.00	CUM	128.05	96805.80	INR Ninety Six Thousand Eight Hundred & Five and Paise Eighty Only
5	Earth work in excavation by mechanical means (Hydraulic excavator) / manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, for all lift, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m. All kinds of soil.	3.25	CUM	188.45	612.46	INR Six Hundred & Twelve and Paise Forty Six Only

6	Supplying and filling in plinth with sand under floors, including watering, ramming, consolidating and dressing complete.	0.325	CUM	1844.00	<b>599.30</b>	INR Five Hundred & Ninety Nine and Paise Thirty Only
7	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level :1:3:6 (1 Cement : 3 coarse sand (zone-III) derived from natural sources : 6 graded stone aggregate 20 mm nominal size derived from natural sources)	0.65	CUM	5916.00	<b>3845.40</b>	INR Three Thousand Eight Hundred & Forty Five and Paise Forty Only
8	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 50 in foundation and plinth in:Cement mortar 1:6 (1 cement : 6 coarse sand)	5.72	CUM	5322.15	<b>30442.70</b>	INR Thirty Thousand Four Hundred & Forty Two and Paise Seventy Only
9	12 mm cement plaster finished with a floating coat of neat cement of mix :1:4 (1 cement: 4 fine sand)	35.75	SQM	284.75	<b>10179.81</b>	INR Ten Thousand One Hundred & Seventy Nine and Paise Eighty One Only
10	Cement concrete flooring 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate) finished with a floating coat of neat cement, including cement slurry, but excluding the cost of nosing of steps etc. complete. 40 mm thick with 20 mm nominal size stone aggregate	7.50	SQM	452.50	<b>3393.75</b>	INR Three Thousand Three Hundred & Ninety Three and Paise Seventy Five Only
11	<b>Total impact of GST for the purpose of CTC</b>	1.000	Nos	<b>0.00</b>	<b>0.00</b>	INR Zero Only
<b>Total in Figures</b>					<b>532327.82</b>	INR Five Lakh Thirty Two Thousand Three Hundred & Twenty Seven and Paise Eighty Two Only
<b>Quoted Rate in Figures</b>			Select		<b>0.00</b>	INR Zero Only
<b>Quoted Rate in Words</b>					<b>INR Zero Only</b>	



























